local ¢, temp;
for c from 1 to 120 do
temp = ithprime(c) :

end do:
end proc;

local c, temp;

for ¢ to 120 do
temp = ithprime(c);
if isprime(temp + a

end if
end do
| end proc
> p3b(44,92);

| > # some recreational mathemaitcs that involves number theory
> p3b :=proc(a :: integer,

b :: integer)

if isprime (temp + a) and isprime (temp + b) then print("these three primes are", temp, temp
+ a, temp + b); end if;

p3b = proc(a:integer, b::integer)

) and isprime(temp + b) then

print("these three primes are", temp, temp + a, temp + b)

"these three primes are", 17, 61, 109
"these three primes are", 59, 103, 151
"these three primes are", 107, 151, 199
"these three primes are", 137, 181, 229
"these three primes are", 149, 193, 241
"these three primes are", 179, 223, 271
"these three primes are", 239, 283, 331
"these three primes are", 479, 523, 571
"these three primes are", 569, 613, 661
"these three primes are", 599, 643, 691
"these three primes are", 617, 661, 709
"these three primes are", 647, 691, 739
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